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Secondary Math I11
HW 6-3 Period:
Solving Radical Equations
Solve each rational equation algebraically: Pk Mu ’\Wﬂ\
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16. Art A glassblower can produce several sets of simple glasses in about .
3 hours. When the glassblower works with an apprentice, the job takes about

2 hours. How long would it take the apprentice to make the same number of
sets of glasses when working alone?

@Kelsey is kayaking on a river. She travels 5 miles upstream and 5 miles downstream in a total
0

6 hours. In still water, Kelsey can travel at an average speed of 3 miles per hour. What is the
average speed of the river’s current?

g = a . s . %
S o a LLD: (3X)(3¢x) @ g@eed~ 2 m(>\r\\
Me  + Down = Toad S
¢ WRSEReT 161,55 & 1S S5 ¥ SRR i)
fe¥ e, % S ¥ ?_)7 ; / (,,)( N2 7<> - s o ‘
e s s 20 = S4 -lx
e dex—B ST | s SEEeE
y*-24=0 (2 Yy e - e TR
LA ool ol (x +2)(x-2)* O
=Sy G @
1. Write an equation to represent 2. Graph the function g(x)= %(X+2)_2
' the graphed function
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